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\ POLICE PUBLIC SCHOOL

POLICE LINES- BATHINDA BATHINDA

Total Number of Students

SNo Cass Section Total No of Boys  Total No of Glrls___Total No of Students In Class
1 LXG CiviL 19 11 30
2 LXG POLICE 7 2 10
3 LXG 100%(4TH CLIN SCH) 0 1 1
2 LXG G0%(TEACHER) 1 0 1
S LXG 100% FREE BY SCHOOL 1 0 1
3 LXG 15% CIVILTWO CHILD 5 4 9
Total Student in Class 32 20 52
7 UKG CIviL 5 8 13
g UKG POLICE 1 1 2
9 UKG 35%(4THCLASS PHG) 0 1 1
10 UKG 100%(4TH CL IN SCH) 1 0 1
11 UKG 100% FREE BY SCHOOL 0 1 1
12 UKG 15% CIVIL TWO CHILD 5 3 8
Total Student in Class 12 14 26
13 IST CIvIL 10 6 16
14 IST POLICE 3 3 6
15 IST 35%(4THCLASS PHG) 1 0 1
15 IST 100%(4TH CL IN SCH) 1 0 1
17 IST 50% 0 1 1
18 IST 25%LESS(UNDER 3 STUDENT) 2 0 2
19 IST 15% CIVIL TWO CHILD 3 5 8
Total Student in Class 20 15 35
20 2ND CIVIL 13 9 22
21 2ND POLICE 3 2 5
22 2ND  25%LESS(UNDER 3 STUDENT) 5 3 8
23 2ND 15% CIVIL TWO CHILD 2 2 4
Total Student in Class 23 16 39
24 3RD CIVIL 14 14 28
25 3RD POLICE 1 2 3
26 3RD 35%(4THCLASS PHG) 2 q 3
27 3RD 100%(4TH CL IN SCH) 2 1 3
28 3RD 60%(TEACHER) 0 1 1
29 3RD  25%LESS(UNDER 3 STUDENT) 0 1 1
30 3RD 15% CIVIL TWO CHILD 4 4 8
(Total Student in Class 23 24 47
31 4TH CIVIL 11 13 24
32 4TH POLICE 3 4 7
33 4TH 35%(4THCLASS PHG) 4 1 5
34 4TH 100%(4TH CL IN SCH) 1 0 1
35 4TH 100% FREE BY SCHOOL 1 1 2
35 4TH 50% i 0 1
37 4TH 25%LESS(UNDER 3 STUDENT) 2 2 4
38 4TH 15% CIVIL TWO CHILD 6 3 9
Total Student in Class 29 24 53
39 STH CIVIL 15 21 36
40 STH POLICE 4 2 6
41 STH 35%(4THCLASS PHG) 3 0 3
42 STH 100%( RTE.EFF) 1 0 1
43 5TH 100%(4TH CL IN SCH) 1 0 |
44 STH 60%(TEACHER) 1 0 1
45 5TH 100% FREE BY SCHOOL 0 1 1
46 STH 50% 0 2 2
47 STH 25%LESS(UNDER 3 STUDENT) 0 2 2
43 5TH 15% CIVIL TWO CHILD 4 4 8
Total Student in Class 29 32 61
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63 8TH CIVIL 29 =
61 8TH POLICE 6 6 :
65  8TH 35%(4THCLASS PHG) 2 1 =
66 8TH 100%( RTE.EFF) 0 1 N
67  8TH 60%(TEACHER) 1 0 ]
68 8TH 100% FREE BY SCHOOL 1 0 1
69  8TH 50% 0 1 =
30 8TH _ 25%LESS(UNDER 3 STUDENT) 2 1 0
71 8TH 15% CIVIL TWO CHILD 3 8 =
Total Student in Class 44 30 T
38 12
72 9TH CIVIL =
73 9TH POLICE 4 10
74 9TH 35%(4THCLASS PHG) 2 4 6
75  9TH 60%(TEACHER) 1 ! 2
76  9TH 100% FREE BY SCHOOL 1 0 1
77 9TH  25%LESS(UNDER 3 STUDENT) 3 7 10
78 9TH 15% CIVILTWO CHILD 4 3 7
Total Student in Class 53 37 90
79  10TH CIVIL 38 19 57
80  10TH POLICE 11 6 17
81 10TH 35%(4THCLASS PHG) 1 2 3
82 10TH 60%(TEACHER) 1 1 2
83 10TH 100% (TR FREE) 1 0 1
84  10TH 50% 0 1 1
85  10TH  25%LESS(UNDER 3 STUDENT) 1 4 5
86  10TH 15% CIVIL TWO CHILD 3 5 8
Total Student in Class 56 38 94
87  11TH CIvVIL 40 27 67
88 11TH POLICE 3 T 3
89 11TH 35%(4THCLASS PHG) 2 6 3
90  11TH 100%(4TH CL IN SCH) 0 1 T
91  11TH 60%(TEACHER) 1 0 5
92 11TH 30 % (SPORTS) 1 0 -
93 11TH 50% 0 1 ;
94  11TH 15% CIVILTWO CHILD 0 1 :
Total Student in Class 52 21 B
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9%  12TH POLICE 15 7 >
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98 12TH 35%(4THCLASS PHG) 0 1 2
9 12TH 60%(TEACHER) 2 5 1
100 127H 30 % (SPORTS) 0 > 2
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Total Student in Class 15% CIVIL TWO CHILD 3 2 5
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